EARAROBEEIERT — 2 N— IBISH —F

20195F9A220 (B) 7EIEER5H

m C1m#E 5% —M EE e
[A&4£] 1% :300,000" ~ 237%&:78,000 "  33&:42,000” 437 :30,000H .~ 57&:15,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
118l11| 7E=22I k> #o6 | LAEE 1 -1 |ar2| — | 1 :726) LT (&)
Lix4avk—5— BA-—HRaL-> LR 4%
BERRE :29. - . — HEEE (BE
2 4 k=K7Y — % 7 554.0 (;2{9;) 9-9 38.6 2 (4+327) el
L:yq4 27— BRI RINT LR BRR&t 74L700—
. BARA : = - FEA= (BE
3 3BV Fr> 5 25% 1(/72?:3 s %9 ° :;7) /J\%%i( (
R:IAY>FE2Tc B b= YIL hE iE
; . N _ e
4 6|7 vhn—% 44 g§*§'§ 1.(219).9 10-10 | 38.9 8 440 ;&:g?m (B&FA)
QELIINZ N BAVIITA Y- @) | Sikss
S s 4 | EANG 1:30.0 7-8 39.1| — 6 409 | FEFZ= (BERE)
5/7|9|B-¥L—F 54.0 (3/4) o | ) K257
R:A—Xx>T8L B:F—THFL—> I=Tapse]
S, 3 2 HER :30. — . — 1EEHE (KR)
6|7|8 | *FT7ER Ex 50 A * | e |fEekiE=
RiFkovH/xwF BixFTIU-—7 J—HrIr—L
N R 5K :30. - . - THERE (B
718l10 ¥E¥IF ¥ > i 5 54.0 1(/73?:; 12 40.1 4 zzg? IMEEA
L:O—-LiLFL4a B:7LIi-gs4a Bk AfE
SRPTS 4 4 | WOB— 1:30.7 1-11 39.4| — 7 396 | HREHE (EERE)
gl1|1|¥>¥EE-F 54.0 @ Gy | ) TALTa—
R:iFHYTTI1R8 B hvhrELyY TS &V S
NS ERRE :30. - . - TRREIE— (BRFE
9 7 h—a—<2T1— 4 6 5@4_0 1(730t>7 4-7 40.1 10 (4_213; bt
R:Tv IRy b B T5FFN= L1 T14577—14
- . BaANIZ :31. = . — REILES] (B
10 0| 7Ty v at A it 4 o 1(341)3 5-4 40.6 9 (4_038) E‘ﬁ;ma;e
R:F4—FTTVI 7 B:xA¥FTIS5via AL TINT7— L4
_ KETHE 31, - 2] - NEEE (ZERE)
11155 FIL/ <Ak X 6 54.0 (1231]/27) 5 a2 B ;‘_:18) ;\#E;:
LN=HNNK B:hx¥E77— =R77—L4L
® I —F—@EBIERL
13—7+—
230—7—
Jol=5r= 10,11,5,7,2,3,9,8,4,6,1
40—+ — 11,10,3,2,5,8,7,9,4,6,1
[ N3
B OB 1 200H 714K 4-11 270M % E 4-8 360M 3EHE 3-4-11 1,260
8 B 1 110 3-11 440M B & 4-11 510 K31 11-4-3 2,790
4 120/ 3-4 390M B H 11-4 680
3 140M

ABICOVWTRDTEEERROODE. TR LIV,




